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1 EZAT R4.6.30 4K BRHEE9(<8.8) BREET(<7.8) BREET
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1 kST R4.7.1 47 Bt E9(<9.0) BHE9(<8.2) BHEd

2 BT R4.7.1 4] BRHEE7(<7.8) BRHEE9(<5.0) BRHEEY

3 AT R4.7.1 4] BRHEE9(<8.2) RHEE9(<8.1) BREEY

4 BT R4.7.1 4] BREET(<74) BRHEE7(<7.9) BRHEEY

5 AT R4.7.1 4] BRHEE9(<7.8) BRHEE9(<7.8) BREEY

6 BT R4.7.1 4] BRHEE7(<84) B E9(<6.8) BRHEEY

7 AT R4.7.1 4] BREET(1] B E9(<6.2) BREEY

8 BT R4.7.1 4] BRHEE7(<8.9) BRHEE7(<82) BREEY

9 AT R4.7.1 4] BRHEE9(<7.0) R E9(<5.8) BREEY

10 BT R4.7.1 4] BRHE9(<6.9) R 9(<6.9) BRHEY

11 AT R4.7.1 4] BRHEET(<9.1) B 97(<6.6) BREEY

12 BT R4.7.1 4] BRHE9(<8.9) BRHEE9(<84) BRHEY
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